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Discpssion Mathematics:- N
Number System 2
Probability 1
Mean, Median, Mode 2
SI & CI D
Profit & Loss , Average 2-3
Mensuration 1-2
Trigonometry 1-2
Percentage 2-3
Algebra 1-2
Geometry 1-2
Boat & Stream 2
Time & Distance 1
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SSC CHSL Tier-I :-Pattern

Sections/Subjects Number of Questions Maximum Marks Time Duration

each section

General Awareness 25 50 60 minutes
Reasoning/General 25 50

Intelligence

English Language (Basic 25 50

Knowledge)

Quantitative Aptitude 25 50

(Basic Arithmetic Skill)

Total 100 200
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SSC CHSL Tier 2 Plaper II Exam Pattern

Sections Module Subject No. of Questions Marks Weightage Duration
Mathematical
Module-I 30 90 25%
Abilities
Section I 1 hour
Reasoning and
Module-II . 30 90 25%
General Intelligence
Session —I
English Language
(2 hours & 15 Module-T 3 i 40 120 33.33%
Min) Section 11 Angle pIprenension 1 hour
Module-II General Awareness 20 60 16.66 %
. Computer o .
Section II1 Module-I 15 45 Qualifying 15 minutes
Knowledge Test
) Qualifying 15 minutes
Skill Test For DEOs
Session —II | Section III Module-II
. Qualifying 10 minutes
Typing Test For LDC/JSA
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There is a continuous growth in the population of a village at the rate

of 5% per annum. If its present population is 18522, what was the

population of the village 3 years ago?

TSk TS ShT STAEEAT | 5% WTaay i & & R gig of W 71 a1g gaeht
TAHTT TIEEAT 18522 B, A1 3 IY USA T hl FAHEEHT feha+T oft?

g a) 17500
N = L c) 16000

d) 17200
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If 15 boys earn T900 in 5 days, then how much will 20 boys earn in 7

days?
Ife 15 7=k 5 37T T 2900 HATA 2, 7 20 T2k 7 o7 7 feraem swaman?

2) Z1,580
§ a0 7)) b) €1,680
N\ Y. c) ¥1,540

d) ¥1,650
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boat can cover 18 km downstream in 2 hours. If the speed of stream 1is 2
km/hr, then what is the speed of the boat in upstream?

Ueh TSl 2 & &I o 317ehet 18 fohet sht gt o st Wehell 81 F €T ht TTiel 2
fertil/eieT B, QT 9T o Jicshe 1a 1 7Ry T 2

; a) 8 km/hr
’ b) 5 km/hr

c) 6 km/hr
d) 7 km/h
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In a triangle ABC, G is the centroid of ABC and BM is median and ZABM
=30°and AG 1L BM. IfGM = \/3 cm then find the length of AB.

Teh ST ABC W, G, ABC 3T shgieh & 3 BM HITEeRT § 3T LABM = 30°
s AG L BM 2 afe GM = \3 It dr AB i ders 3T iy

% a) 2cm
( = » by 4cm

C) 4\/3 cm
d) 5cm
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What is the value of x, if ST |9 T 8, Ife
3 x V196 + Vx =8 x 3 29

(K:t‘l w
N Y a) 4096

b) 135
c) 1064
d) 128
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A number will become 127% of itself when 54 1s added to the existing

number. Find the value of the number ?
Ueh HEAT HIS[ET AT H 54 Sig- 0 & shl 127% BT S| HEdT 31 /i

(( :; ) 3 a) 54

c) 127
d) 200
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If A's height 1s 25% less than that of B, then how much percent 1s B's
height more than that of A?

gfe A T S9TS B ¥ 25% FH 2, i B bl e A 9 foraw gfdera stferes 29

( (\‘

| a) 50%
3 b 4s%
54 ¢) 22.5%

d) 33.33%

N

=
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sector of a circle has a radius of 18 cm and a central angle of 125°.

What will be 1ts approximate perimeter?

U I o Ush Bsa@e ot Frsam 18 At 37T shel™T ahIvT 125° B SEehT Ui
SIS AT BT
((\=

_ a) 73.85cm
» b) 74 cm
75.3 cm

d) 73 cm

LIt
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2 1 3

The descending order of —, o and - 1S:

2/5, 1/3 SR 3/7 T 1 2
213

~ a) =37

Y= 7 13 2
N\ 517

c) s

3 271

g =,5 =

7°5 3
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The radius of circle A 1s 5 cm. Circle A touches circle B externally.

The distance between the center of the two circles 1s 8 cm. Find the
radius of the Circle B.

I A ohl BISa1 5 941 21 I A, I B ohl ST &9 § T92] LT = ST Il
ohg, o ST<l shl gl 8 BT 81 I B =hl 55T T shifsTq)

@

8_/

a) 3cm

' b) 5Scm
n > c) 13cm

d) 15cm

I
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Find the perimeter of rectangle if 1t's length 1s 160 m and it's diagonal 1s
200 m ?

3T T IRETY T shifSTT Ife gehl TeTs 160 H1et @ 31T 86kt forshut 200
e =l

a) 460 m
b) 120 m

TN c) 560 m
» d) 420 m

// —
/ 7~
e am
=
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What is the value of sin(48° + 0) — cos(42° — 0)?
sin(48°+ 0) - cos(42° - ) T A FAT 2

b) 1
c) -1
d) O




m / at 08:30 PM /

A solid cylinder has a radius of 9 cm and a height of 25 cm. What 1s the
ratio of its total surface area to its curved surface area?

Ueh 316 ST shl ST 9 T SR ST 25 |l 81 39 ol IR & o
oIk JETF &% § STTUTd fohdT 82

a) 9:25

((P‘w b) 25:9
SN y c) 25:34

d) 34:25
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if X‘|'} =5 then find the value of X*+ X_ —

aﬁH} —5 qf X2+ Pwmtrsn?rﬁ?

a) 22

\ b) 10
( = v 5 2

d) 23
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The sum of two numbers 1s 48 and product of two numbers 1s 18 find the
sum of their squares

a1 ST T ANT 48 B ST AT HGATSA| h1 TUHES 18 7, 3Aeh I ol ANT Tl
( = ) a) 2261
== b) 2357
c) 2268

d) 1237
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Ifa+b=234, anda—b=18 Then, the value of 4a*+ 4b* is:
Jica+b=234,3Ma-b=18dT4a’ + 4b>HT U 2 :

' a) 2690
\\> b) 2960
%’ c) 2340

d) 3420

Ay

( (\ X









